[image: image1.jpg]Intervational Olympiad of gL
Marhematics 2010 v o

Organied by
MATHEMATICS OLYMPIAD
FOUNDATION (NGO)

CLASS CODE - 002

TEST PAPER TYPE

i B R )

] BIHIN

DURATION © 60 MINUTES. ToTAL QuESTIONS : 30

1OM: 10 Kofl Num
 ituproper Kol Numbor o

n

d to wnavailubility of Resul
The questio

question 2610

per cansists of 30 quostions. Question 1st10 25th ca
30uh carry equal mrks of 5 marks

4 Writa your answorsls

Tho question paper st

15 4 pages

£ ntil you are asked 1o do

INSTRUCTIONS

D of the question By

B. Cor DY e givon b [ the istion yapor with Renenci

MAXIMUM MARKS 1100

the giver

el marks of 3 parks vach whoreas

1. Add the following:
6-549+14+5
n2s () 26 ic)27

(0)29 Answer[]

2. What will be the answer when 12 is multiplied by 4, added by 9 and subtracted by 32

(A) 54 (8) 55 (€) 56

()57 Answer []

3. How many circles are there in the following figures?®

7o

&

a1

Answer (]

4. Find the largest number from the following:
295,285, 298,267,299,288
(A) 298 (8) 267 (€) 295
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(0)299 Answer []
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{A] Rectangle (B) Cube (€) Square (D) None of these  Answel

6. Subtract the sum of the following from Rs 507 |

(A) 30 rupees 25 paisa {B) 30 rupees 50 paisa
{C) 30 rupees 75 paisa (D) None of these Answer

7. James take a piece of wood and divides it into two parts. He further divides each part
12 equal parts. How many parts of wood he has now?
(A) 24 parts (8) 26 parts (c) 28 parts (D)None of these  Answet

8. The cost of 1 pencil i Rs 2. Steve wants to buy 3 pencil for his brother and 2 pencils fo
sister. How much money he will have to pay?

{A) Rs 6 (B) Rs4 (€) Rs10 (D) None of these Answer
9. ‘How many days are there in the month of May?

{A) 29 days (8) 30days

(C) 31 days (D) None of these Answer

10. What will be the time when you subtract 10 minutes from the time shown by the ¢

(A) 10:00 (B) 10:10 (€) 10:15 (D)None of these ~ Answer

11.In a class test the students who score 10 out of 10 gets the grade A and with each
marks grade goes as B, C, D, E, etc. Steve gets 7 marks out of 10. What is his grade?
(A) B (8) € (©) 0 (D)E Answer

nd the value of [
-
(Aja (8) 6 (©7 (v)e Answer

13. Which one of the following options is correct for the total number of grapes in
following figure?

7

(A)7x5” (B) 57 1€) 5+545+5+545+ 5 [DJAIl of these Answer
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{A) 17+15 > 459 (8] 69-17 < 15414

(C) 28412410 - 25415 (D) None of these Answer[]
15. Write 979 in words.

(A) Nine hundred seven nine (B) Nine hundred seventy nine

(€} Nine hundred sixty nine (0) None of these Answer []
16. How many 20 paisa coins are there in Rs 117

(A) 50 (8)55 (c) 65 )75 Answer []
17.1f 7th October is Thursday then how many Thursday are there in the month of Octobar?

(3 (8) 4 ©s (0) None of these  Answer[]

18. To make a square sheet of paper five small sheets have been used. How many small sheets
have been used to make such 15 square sheets?
(A) 55 (8)65 (c) 75 (0) None of these  Answer []

15. A leap year is always divisible by which one of the following number?
(13 (8) 4 ©s (D)6 Answer []

20. Which one of the following options s correct for the given figure?

10 10 10 10 0\ /10 10
{A] Tne sum of numbers is 70 (B) The numbers can be written as 10 x 7
(C) goth Aand B (D) None of these Answer[]
21. Which one of the following options is correct?
(A} 79 =9tensand 7 tens (B) 102 < 10tens and 2 ones
(C) 108 = 100 tens and 10 ones (D) 658 = 6 hundreds, 55 tens and 8 ones  Answer []

22,11+ means - and - means + then find the value of 25 - 45416
iA) 36 (8) 54 (€ a (0)None of these  Answer []

23, Subtract smallest number from the greatest number given in the following figure and
find the result.

(A) 86 (8) & (€) 85 (D) None of these  Answer []

24. Given below the weight of various items. What is the difference between the weight of
Rice and Wheat”

q e
100 kg | lZDkg IRU kg 150 kg
' leu zvka m 3 S0kg

Wheat Rice Bajra Rajma
(a) 70kg (8) a0kg (€ 30kg (D)None of these  Answer []
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[image: image4.jpg]25, How many centimetres does the girl given in picture needs to grow to reach the heig

of 90cm?

(8) 10 cm (C) 20em (D) None of these  Answer|
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26. Find out which one of the following figures is different from

w m ®) !—V— © m (mlrﬁ Answer[

27. Complete the following series:
2,8,14,20,26,2
() 20 (8) 31 (€) 32

other three?

(0)33 Answer,

25, Which one of the following options will replace the question mark?

1|4 @ a| ?
3 5
w46 (8) ©]8 (D)None of these  Answel

29. 1f EFG = 425 and HIJ = 562 then FGI =2
(A) 256 (8) 526 (€) 625 (D)None of these  Answ

‘complete the series?

30. Which one of the following options is correct to

s\//zo LVG Ay.‘!
26 a2

114
(A) 65 (8) 62 (c) 52 ()72
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